Special-Lite, Inc.
PO Box 6

Decatur, MI 49045 speciql_Lite®

Field Maintenance Kit for Bathroom Partition Available in Reusable Case

No two installations are the same when it comes to bathroom partitions. We have developed a field kit
for partition installation to make installation more efficient, and parts readily available. Particularly suited
to those working with retrofit applications where adjustments may be necessary.

This new kit contains the following standard installation components in a sturdy reusable case:

Quantity - Item Number, Item Description

25 - SL-SC-2, #10-24 x 1.125” Shoulder machine screw 6 lobe w/pin T25
25 - SL-SC-3, #10-24 x 1.125” Machine screw 6 lobe w/pin T25
25 - SL-SC-4, #10-24 x .625” Barrel nut 6 lobe w/pin T25

25 — SL-SC-6, #12 x .625” Type A tapping screw 6 lobe w/pin T25
25 - SL-SC-7, #12 x 2" Type A tapping screw 6 lobe w/pin T25
25 - SL-SC-8, #10-24 x 1.75” Machine screw 6 lobe w/ pin T25

25 - SL-SC-30, 1/4" Finishing Washer 18-8SS

25 - SL-SC-97, #12-24 x 0.5” 6 Lobe w/pin T25

25 - SL-SC-120, #10 - #12 x 1" Plastic anchor

2 - SL-SC-121, Height adjusting bolt

2 - PT-00-1217 - 4123, Door Bumper

2 - PT-12-0199 Plastic Headrail END CAP

2 - PT-12-1020 Headrail Return “L” Brackets

2 - PT-1203-215R1, BR PARTITION/LATCH STRIKE 215R1 AE4831, 4"
2 - A0213 Headrail Wall Bracket

2 - A4003 - 4003, Hook / Bumper Combination

2 - 4988, Slide Latch HLSLA - Latches & Keepers

2 - A0540, 5400 Door Pull 3-1/2" center - toilet partition

2 -1004051, #12-24 Tap

2 - Masonry Drill Bit - ¥4" x 4 x 14

2 - 440TX25H Apex Bit

Ph: 800.821.6531
Fx: 800.423.7610
www.special-lite.com



